Day One Review
Directions: For each question in this section, select the best answer from among the choices given and fill in the corresponding circle on the answer sheet.  You have twenty-five minutes to read and answer the following thirty-five questions. 

Part one: Phrase Correction


Replace each underlined phrase with one of the following.
1.  Roger had just walked into his office and that was when he was told that his plan had finally been approved.

a) and that was when he was told

b) and then he learned

c) when it was learned by him

d) and then they told him

e) when he learned

2.  Burdened with three pieces of luggage and a pair of skis, Sarah’s search for a baggage cart was desperate.
a)  Sarah’s search for a baggage cart was desperate

b)  Sarah’s desperate search was for a baggage cart

c)  a baggage cart was what Sarah desperately searched for

d)  a baggage cart for which Sarah desperately searched

e)  Sarah searched desperately for a baggage cart

3.  Karen, James, and Sam were hiking when, stumbling over a rock, he fell down a steep embankment.
a) when, stumbling over a rock, he fell down a steep embankment

b) and then he fell down a steep embankment after he stumbled over a rock

c) when Sam fell down a steep embankment after stumbling over a rock

d) when Sam fell down a steep embankment, since he stumbled over a rock

e) and, since Sam has stumbled over  a rock, he fell down a steep embankment

4.  By attracting new industry when the old factory closed, the council kept the economy of the town from collapsing, this was disaster many workers had feared.

a) this was a disaster many workers had feared

b) because many workers had feared a disaster

c) the fear many workers had would be a disaster

d) a disaster that many workers had feared

e) and, since Sam has stumbled over a rock, he fell down a steep embankment

5.  A healthy economy can be measured not only by the growth of businesses but it has a psychological effect on people.
a) it has a

b) as well in the

c) also by the

d) also the

e) in the way of having a

6.  Today’s political candidates may reach wide audiences by appearing on television, but old-fashioned barnstorming still has value because it allows the electorate to meet candidates face to face

a) television, but old-fashioned barnstorming still has value because it allows

b) television, but old-fashioned barnstorming still would have value because of allowing

c) television; however, there is still value in old-fashioned barnstorming by allowing

d) television, old-fashioned barnstorming still having value because it allows

e) television, when old-fashioned barnstorming still has value in allowing

7.  Linguistic research often requires fieldwork where they can study and record the spoken dialects of a region.
a) where they

b) through which they

c) and the linguist

d) during which the linguist

e) which they

8.  The primatologist has argued that sustained observation of a few animals provides better behavioral data than does intermittent observation of many animals. 
a) provides better behavioral data than does intermittent observation of many animals

b) provides better behavioral data than many animals are observed intermittently

c) providing better behavioral data than does intermittent observations of many animals.

d) Do provide better behavioral data than intermittent observation of many animals

e) In contrast to intermittent observation of many animals, provides better behavioral data

9.  George Orwell’s term “doublespeak” referring to the intentional use of language to confuse or to mislead, as when one says “revenue enhancement” instead of “tax increase.”

a) referring to the intentional use of language

b) referring to language which is intentionally used

c) which refers to intentionally using language

d) refers to the intentional use of language

e) is when it refers to language used intentionally

10.  Scientist predict technological changes in the next century, they will be as dramatic as was the development of the transcontinental railroad in the last century.

a) century, they will be as dramatic as was

b) century, these will be as dramatic as

c) century; being as dramatic as was

d) century will be dramatic as is

e) century as dramatic

11.  With billions of tons yet to be mined, some argue that coal conservation measurers are unnecessary.

a) With billions of tons

b) Because billions of tons of coal are

c) Because of coal in billions of tons

d) By considering that there are billions of tons

e) Aware of the coal in billions of tons

Part two:  Grammar and usage errors

In each section there is one or no grammatical errors, select one of the underline section and mark it as incorrect or select “e” if there is no error.

12.  Beatrix Potter completely 




 A

transformed the traditional animal fable, 
                                         B

and they had been used by other writers 
             C

simply to illustrate moral lessons.  
                      D
No error
     E

13.  No matter where they came from or 


   A
what their previous lifestyle is, the 

   B                                 C

refugees were grateful for having been 



    D

granted political asylum in the United 

States.  No error

      E

14.  Susan and peter were inspired to 




      A

become a professional writer after 



      B                 C
hearing a famous journalist speak about 





     D
the challenges of investigative reporting.  

No error
     E

15.  Cocoa was popular with Europeans 

before either tea and coffee, it 

    A 

    B

consumption gradually spreading from 



    C

Spain and Portugal to Italy, Austria, 

France, and then across the channel to 



        D

the British Isles.  No error


         E

16.  To become a world figure-skating 


   A

champion like Kristi Yamaguchi, one 

must be so dedicated that you will 

      B


       C     
practice six hours a day. No error
     D


          E

17.  Each time Caroline turns on her 

computer, she has to enter a company 



A

code, then her initials, and then enters a 




         B
password before she can begin working. 


        C


   D

No error

      E

18.  A talented and versatile artist, 



   A

Twyla Tharp has been a dancer, 



   B            C

choreographer, and collaborated on 

various productions.  No error

D

    E

19.  The scientific writings of Edward O. 

Wilson, Stephen Jay Gould, and Richard 

Dawkins, which has continued the 


         A

B

discussion of genetic issues raised by 





   C

Charles Darwin, are familiar to many 



    D

high school and college students.  No 

error

  E

20.  Conflicts between land developers 

and conservationists have repeatedly 

arose, causing Congress to reconsider 

   A
   B

legislation that prohibits building within 



   C
habitats of endangered species.  No error
     D



          E

21.  Surely one of the most far-reaching 

           A

changes in the nineteenth century will be 






B

the change from working at home to 





C
working in the factory.  No error
     D


         E

22.  Howard Gardner, an observer of 





A
Chinese elementary education, has 

questioned the viewed that requiring 

young children to copy models prevents 


     B

        C
them from becoming a creative artist 





D
later in life.  No error


  E

23.The governor’s aides are convinced 





  A

that announcement of the investigation,

coming just days before the filing 


       B

deadline, were calculated to discourage 



  C

the governor from running for reelection.  



      D

No error
     E

24. Although the new device was the 


 A

most clever designed bird feeder that 


  B

Ms. Rodriguez had ever owned, it could 




    C

not keep squirrels from stealing the 



       D

birdseed.  No error


E

25.  Whatever price the company finally 




          A
sets for the fuel will probably be 




   B

determine as much by politics as by a 



  C

realistic appraisal of the market.  



D

No error
      E

26.  Air pollution caused by industrial 

fumes has been studied for years, but 



A

        B

only recently has the harmful effects of 



C

noise pollution become known. No error
       D

         E

27. The historian argued that we ought to 





      A

learn more about the process by which 


     B

individuals like Sam Houston were 




   C
identified by others as leaders.  No error
                                        D
       E

28.  Quick to take advantage of Melanie 


A
        B

Johnson’s preoccupation in the history 



   C

of the Johnson family, the genealogist 

proposed investigating that history—for 




   D

a large fee.  No error



  E

29.  Contrasting with most other 


      A

      B

fifteenth-century rulers, Portuguese 

kings could count on the support of the 


     C

aristocracy in any overseas ventures. 


          D

No error

      E

Part Three: Essay revision


The following passage is an early draft of an essay.  Some parts of the passage need to be rewritten.  Read the passage and answers the questions that follow.

(1)Many people complain about the negative statements made by candidates that are arising during political campaigns. (2)But really, what candidate is ever going to say something nice about an opponent? (3)Their goal, after all, is if you elect them. (4) Clearly, there are times when negatives must be mentioned. (5) For example, it is only fair for a challenger to point out that incumbent has in fact done a poor job in office.  (6) Now that I am almost old enough to vote, I pay more attention to the character of candidates.

(7) But there is another kind of negative campaigning, the kind known as “sleaze.” (8) Instead of proposing new policies, a sleazy candidate will run a campaign aimed at smearing the opponent. (9) It has become so common that it is almost taken for granted.


(10)The dirtiest kinds of campaigns use tactics such as character assassination and outright lying about an opponent. (11) The actual work of planting the lies is often done by campaign staff. (12)Then the accusing candidate denies knowing about it.  (13) Meanwhile, someone’s reputation is ruined because people who hear the lies believe them without checking the facts first. (14) The media report the lies, they say it is because they are newsworthy.  (15)Thus the media contribute to a vicious circle. 

30.  In context, which of the following revisions is necessary in sentence 1?

a) Delete “people”.

b) Change “complain” to “complained”.
c) Change “are arising” to “is raised”.

d) Delete “that are arising”.

e) Insert “the course of” after “during”.

31. In context, which is the best version of sentence 3?

a) (As it is now)

b) Their goal, after all, would be if their opponent lost.

c) A political candidate’s goal, after all, is when the election is one.

d) The goal of political candidates, after all, is to win elections.

e)  The goal of politics, after al, is for you to elect this person.

32.  In context, which of the following most logically replaces “It” in sentence 9?

a) This strategy

b) This lack of planning

c) This complaint

d) This lie

e) This promise

33.  What should be done with sentence 6?


a) Leave it as it is.

b) Delete it.

c) Insert “Consequently,” at the   beginning.

d) Add “than formerly did” at the end.

e) Rephrase the sentence and begin with “Shouldn’t I pay”.

34. Which is the best way to deal with sentence 14?

a) Leave it as it is.

b) Delete it.

c) Change “report” to “verify”

d) Change “they say it’s because” to “saying that”.

e) Change “they are newsworthy” to “it is news”.

35.  Which of the following is best to add after sentence 15 as a concluding sentence?

a)  These tactics may be   unnecessary, but they do have a bright side after all.

b)  Restrictions such as this, if rigorously enforced, will control negative campaigning.

c)  In conclusion, the media should refuse to participate in it.

d) Therefore, as much as political campaigns cost, we deserve better. 

e)  This practice only worsens the negative aspects of our political campaigns.
